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925633+212850+278608=583991X10+-3=1946637

No. 5C #% #E mER Zine
DATE 09-08-10 TIME = 15:16:14
DERICD = 00:01:00 LOCATION NUM. O
5390 0.5u = 241
DATE = 09-08-10 TIME = 15:17:19
© PERICD = 00:01:00 LOCATION NUM. O X10  64.727
0.3u = 4090 0.5u = 165
DATE = 09-08-10 TIME = 15:18:24
PERICD = 00:01:00 LOCATION NUM 0
0.3u = 57904 0.5u = 19012
241+165+19012=19418 X 10+ 3=64T727 AENRERE: 0.5«
DATE = 09-08-10 TIME = 15:19:43
PERIOD = 00:01:00 LOCATION MUM. O
0.3u = 238830 O.5u = 92533
DATE ~ = 09-08-10 TIME = 15:20:48
@ PERISD = 00:01:00 LOCATION MuM. O X10 1,946,637
0.3u = 449824 0.5u = 212850
DaTE = a?;:asza TIME = 15:21:53
FERICD = 0100 LOCATION MUM a
0.3u = 572495 0.5u = 278608

AEuRERER: 0.5 K

DATE = [09-08-10 TIME = 1B:31:56
FERICD = 0Q0:01:00 LOCATION MUM. O
0,34 = £7504 0.5u = 8758
DATE = (09-08.-.10 TIME = 16:33:01
@ FERICD = 0Q0:01:00 LOCATION MNUM. 0 X 10 61,113
0.3u = 44042 0O.5u = 5639
DATE 09-.08-10 TIME = 15:34:06
PERIOD = 0Q0:01:00 LGOCATION NUM. 0
0.3u = 21730 0.Bu = 3927
8768+5639+3927=18334X10+3=61113 BENRERE: 0.5 1
DATE 09-.08-10 TIME = 15:35:122
PERIOD = 0O0O: Ul 00 LOCATION MUM o
0.3u = 19962 0O0.5u = 2386
DATE 09.-08-10 TIME = 156:36:127
@ PERICD = 00: L‘l 100 LOCATION MUM 0 X 10 159,837
0.3u = 16979 0O.5u = 2019
DATE 09.-08-10 TIME = 15:37:132
PERIOD = 00: Dl 00 LoCATION NUM i}
0.3u = 213919 0O.5u = 43546

2386+2019+43546=47951X10+3=1569837

AENSERR: 0.5 1

1R=Y




Al EC x5 L

2711+2044135=610X10+3=2033

No. 5C & #f mEXR ZiEe
DATE = (9-038-10 TIME = 18:353:40
PERICD = 00:01:00 LOCATICN MUM O
0.3u = 245847 0O.Bu = 495566
DATE = (09-08-10 TIME = 16:39:45
() PERIOD = (00:01:00 LOCATION NWUM. [l X 10 361,060
0. 3u = 1920092 0.5u = 35946
DATE = [09-08-10 TIME = 15:40:50
PERICD = 00:01:00 LOCATION NUM. O
J.3u = 131763 0O.5u = 22806
49566+35946+22806=108318 X110+ 3=361060 AENRERE: 0.5«
DATE = [9-08-10 TIME = 1g:42:02
FERIGD = 0Q0:01:00 LOCATICN NUM. O
0.3u = 24348 0.5u = 13581
DATE = (09-028-10 TIME = 15:43:07
() PERICD = (00:01:00 LOCATION NUM. O X 10 192,143
0.3u = 117002 0O.5u = 15488
DATE = [09-08-10 TIME = 16:44:12
PERICD = (00:01:00 LOCATION NUM. 0
0.3u = 190361 0O.5u = 27T
13381+16488+27774=57643X10+3=192143 AEngERE: 0.5«
DaTE 09.-08-.10 TIME = 17:04:26
FPERIOD = 00:01:00 LOCATIOMN MUM. a
0.3u = 951 0.5u = 137
DATE = [09-03-10 TIME = 17:05:31
C) FERIOCD = QOQ0:01:00 LOCATION NUM. g 2,187
0.3u = 3665 ‘O0.5u = 260
DATE = [09-08-10 TIME = 17:06:36
PERICD = 00:01:00 LOCATIOH MUM. O
0.3u = 7R13 O0.5u = 435
137+260+439=836X10+-3=2787 BlERERE: 0.5 1
DATE g9-s08-10 TIME = 17:0V:d1
PERICD = 00:01:00 LOCATICH MUM 0
0.3u = 4695 0O.5u = 271
DATE = [09-08-10 TIME = 17:08B:d6
C) PERIGD = 0O0:01:00 LOCATION NUM. 0 2,033
0.3u = 2933 0O0.5u = Z04d
DATE = Q09-08-10 TIME = 17:09:51
PERIOD = 0O0:01:00 LOCATION NUM. g
0. 3u = 1870 0O.5u = 135

AIENSERR: 0.5 1




Al EC x5 L

No. 5C & #f mEXR ZiEe
DATE op9-.02-.10 TIME = TFI22:8h8
PERICD = (00:01:00 LOCATION NUM, O
0.3u = 1739 0O.5u = 252
DATE 09.-08-10 TIME = 17:24:00

PERIGCD = 00:01:00 LOCATION NUM. B %10 1,943
0.3u = 1247 0.5u = 186
DaTE 09-08~-10 TIME = 17:25:05
FERIOD = Q0Q0:01:00 LOCATION NUM i}
0.3u = 1329 0.5y = 145

252+186+145=583X10+-3=1943 AENRERE: 0.5«

DATE = [J9-08-10 TIME = 17:26:34
FERIOD = (0:01:00 LOCATION MUM 0
0.3u = 1811 oO.5u = 158
DATE = [O9- = 17:27:39

() FERIOD = Q0O: O WUM. O X 10 1,133
J.3u = = 111
DATE o9-08-.10 TIME = 17:28:44
FPERIOD = 0Q0:01:00 LoCATION NUM. o
0. 3u = 537 0D.Bu = 71l

15841114 71=340X10+-3=1133 AENREEE: 0.5 1

DATE 09.-08-10 TIME = 17:40:52
FERISD = 00:01:00 LOoCATION NUM O
0.3u = 152583 0O.5u = 586
DATE 09.-08-10 TIME = 17:41:57

PERICD = 00:01:00 LOCATION MNUM. 0 b,663
0.3u = 13998 0O.5Bu = 556
DATE = (09-08-10 TIME = 17:43:02
FPERIOD = 00:01:00 LOCATION MUM O
0. 3u = 14117 0.5u = 557

5864556455 7=1699X10+3=5663

AENRERE: 0.5

DATE

PERICD

0.3u

DATE

FERIGCD

0.3u

DATE

PERICD

0.3u

09-08-10
oo:go1:oo

1562

09-08-10
oo:01:ao
999
09.-08-10
go:o1:00
854

944641+48=206X10-+-3=686

TIME =
LOCATION
J.5u =
TIME =
LOCATION
O.Bu =
TIME =
LOCATION
0.5u =

94
17:45:41
MWLM . a

Gd
17145145
MU . 0

686

AIENSERR: 0.5 1




Al EC x5 L

No. 5 #x A mEXR ZiREe
DaTE 09.-08-.10 TIME = 17:82:35
FERIGCD = Q00:01:00 QCATION NUM. o
O.3u = 5009 0O.5u = 313
DATE = [9-08-10 TIME = 17:53:45
() FERICD = (0Q0:01:00 LOCATION NUM O X 10 3,043
J.3u = 3959 0O.5u = 22
DAaTE 09.-08-10 TIME = 17:54:50
PERICD = (00:01:00 LOCATION NUM. O
0.3u = 5453 0.5u = 380
3134220+380=913X10+3=3043 AENRERE: 0.5«
DAaT = [09-08-10 TIME = 17:57:07
PERIGCD = 00:01:00 LOCATION NUM. 0
0.3u = 3959 [0.5u = 555
DATE = {09~-038-10 TIME = 17:53:1Z2
() FPERIOD = 00:01:00 LOCATION NUM. O X110 6,210
0.3u = 8638 0O0.5u = 591
DATE = (09-08-10 TIME = 17:59:1°7
PERICD = (00:01:00 LOCATICHN RNUM. O
0.3u = 888« 0.5u = 17

656+691+617=1863X10+-3=6210

AEuRERER: 0.5 K

DATE
PERI

0.3u

oD

166+7244621=2111X10+-3=703T

TIME =
LOCATION
0.5u =
TIME =
LOCATION

MU, O
TEGE
18:01:30
ML, O
724
18:02:35
MWLM o
21

xX10 7,037

AENRERE: 0.5
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